RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (BIA/Tribal Priority Ranking For FY 1993)

1		RES. NO. <u>91-190</u>
2	WHEREAS,	the BIA Tohono O'Odham Agency presented to the Tohono
3		O'Odham Legislative Council the projected base amounts for
4		FY 1993; and
5	WHEREAS,	the Tohono O'Odham Agency submitted the agency program,
6		consolidated funding and staffing allocation levels to the
7		Tohono O'Odham Legislative Council; and
8	WHEREAS,	the Priority Ranking Chart provides the Tohono O'Odham
9		Nation the opportunity to participate in the Federal
10		Budget formulation process for the allocation and ranking
11		of resources; and
12	WHEREAS,	the Priority Ranking Chart as utilized depicts the
13		Nation's priorities as previously established; and
14	WHEREAS,	the Tohono O'Odham Council has reviewed the proposed
15	-	Priority Ranking Chart as submitted.
16	NOW, THE	REFORE, BE IT RESOLVED by the Tohono O'Odham Legislative
17	,	Council that the following Priority Ranking Chart be
18		adopted for FY 1993:
19		1. Scholarships
		2. Law Enforcement Services 3. Social Services
20		4. Adult Education 5. Adult Vocational Training
21		6. Tribal Courts 7. Credit and Finance
22		8. Aid to tribal Government 9. Agriculture
23		10. Other Employment Assistance 11. Real Estate Services
24		11. Real Estate Services 12. Agriculture Extension 13. Administrative Services
25		13. Administrative Services 14. Executive Direction
26	The fore	going Resolution was passed by the Tohono O'odham Council
27		1st. day of May, 1991 at a meeting at which a quorum was

28

l in the of the stion on ssistant oursuant
of the tion on ssistant oursuant
ssistant oursuant IL airman
IL airman
airman
19_1
of the day of
of the
or upon nours of
ΙL
•
airman
, 199/,
in An
rman'

	RES. NO. <u>91-190</u> (BIA/Tribal Priority Ranking For FY 1993) Page (3)		
1		- Hi	
2	Returned to the Legislative Secretary on the \sim	74 cm	day of
3	11 ///	'clock,	<u></u>
4			
5	Jusa M. Choyenha		
6	Teresa M. Choyguna Legislative Secretary		
7			
8			
9			
10			
11			
12			
13			
14			
15			
16			
17			
18			
19			
20			
21			
22			
2 3			
24			
25			
26			
27			
28			

MOVED:	COUNCILNAN JOSEPH JUAN	SUBJECT:	BIA/TRIBAL	PRIORITY RANKING FOR FY	1993

SECOND: COUNCILMAN WILLARD JUAN, SR.

DATE: MAY 21, 1991

DISTRICTS	REPRESENTATIVES	OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
BABOQUIVARI 229.0	1. Earl A. Francisco (Kenneth Chico)	114.5		Y		
29.0	2. Joann Garcia (Frances Miguel)	114.5		X		
HUKUT KUK 163.0	1. Rosita Ruiz (Rosemary Lopez)	81.5	X			х
.03.0	2. Kenneth Williams (Harriet Toro)	81.5	X			
U ACHI	1. Percy Lopez	83.0			X	X
.66.0	2. Alex Ramon (Fernando Joaquin)	83.0			X	
5U VO 114.0	1. Juan Joe Cipriano	57.0				X
114.0	 Virgil Lewis (Michael Flores) 	57.0				X
HICKIWAN	1. Lloyd Francisco (Billy C. Manuel)	62.5	X			
125.0	2. Lenora Montana ()	62.5	X		1	
PISINENO	1. Johnson Jose	59.5	X			
119.0	2. Edward Manuel (Alex Antone)	59.5	X			
SAN LUCY	1. Albert Manuel, Jr. (Max P. Jose)	53.0	X			
106. 0	2. John Reno	53.0	X			
SAN XAVIER 127.0	1. Eugene Enis, Sr. (Nichael Rios)	63.5			X	
127.0	2. Joanne C. Preston (Carmelita Mattias)	63.5		Х		
SCHUK TOAK 107.0	1. Johnn Francisco (David Valenzuela,Sr)	53.5	X			
107.0	2. Joseph Juan (Frances Francisco)	53.5	X			
SELLS	1. Joseph T. Joaquin (Larry Garcia)	155.0	X			
310.0	2. Andrew Patricio (Daniel Lopez)	155.0	X			
SIF OIDAK	1. Mary Ann Antone (Nina Jose)	79.0	X			X
158.0	2. Willard Juan, Sr. (Melissa Gregorio)	79.0	X			
	TOTAL	1,724.0	1,088.0	292.5	229.5	114.0 [

^{**}PASSED VOTES